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REHERXE 45

No. 1-1 Rtk < YE[EET BA o e
- & RER&
iE Al ¥ E ==Ly H 3 | BEERES fis xz
M
FRIE 464 29A 4}
= N 170 PN Bi{lx1 0.50 ha — 0.03 ha = 0.47 ha
EXDHSZE . 22cmLl L 28cmkH 362 K/ha X 0.47 ha = 170 &
% 1 181 PN Bi{fi36 362 K/ha X 0.50 ha = 181 K
ES ] 36 PN BEx11 181 KX x 0.2 = 36 K
A (0] 36 PN Elz=16 o]
FRUE 46428 4}
= VN 277 . Bz 0.59 ha — 0.04 ha = 0.55 ha
EXDHSZE . 22cmLl E28cmkiH 504 &K/ha X 0.55 ha = 2771 XK
% 1 297 . B{ExR6 504 XK/ha % 0.59 ha = 297 XK
x ] 59 PN BHmz11 297 K X 0.2 = 59 XK
A 1 59 X Bmz*z16 b=}
FRUE 464 29B 4}
= N 245 PN Bi{lx1 0.48 ha — 0.03 ha = 0.45 ha
EXDHSZE . 22cmLl L 28cmkiE 544 K/ha X 0.45 ha = 245 K
% 1 261 PN Bi{fi36 544 K/ha X 0.48 ha = 261 XK
ES ] 52 PN B{Ex11 261 KX x 0.2 = 52 K
A (0] 52 PN Elz*16 o]
FRUE 467 6A 4}
& X 669 X Bfm*z1 1.47 ha — 0.08 ha = 1.39 ha
EXDHESZE |f. 22cmLl E28cmEkH 481 K/ha X 1.39 ha = 669 &K
% 1 707 N EXEE] 481 A/ha X 1.47 ha = 707 K
x 1] 141 N B{ExRS 707 K x 0.2 = 141 K
A 1 141 PN EXEK] 5
1,361 K
INET 3.04 ha 3.04 ha 1,446 XK
288 XK
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No. 1-2 Fl % {E IR ET BH #H =
OO s
i Al # 2 BAfL i 5 |BEERES & £
M
oS 467 6B
2= VN 603 V. =Rl E 1.31 ha — 0.08 ha = 1.23 ha
EDHSE . 16cmilE22cmEK i 490 K/ha X 1.23 ha = 603 A
% 1 642 V. B2 490 Z/ha X 1.31 ha = 642 &
x 1] 128 V. BimkT 642 X x 0.2 = 128 &K
A 1+ 128 V. Bifiz12 F
R 467 7A
e /S 372 . ==RGECY 1.00 ha — 0.10 ha = 0.90 ha
EEXEDHZE 8. 16cmLl E22cmEK i 413 &K/ha X 0.90 ha = 3712 K
% 12 413 V. E-ThECT 413 K/ha X 1.00 ha = 413 K
£ 1] 83 V. BHf%z10 413 K x 0.2 = 83 XK
A 1t 83 P Bi{fi%15 "
MI 46578
bt 247 V. B 0.53 ha — 0.03 ha = 0.50 ha
EDHSE #. 16cmilE22cmEK i 494 K/ha X 0.50 ha = 247 K
% L] 262 V. B RS 494 Z/ha X 0.53 ha = 262 &
x 1] 52 P Bifz10 262 KX X 0.2 = 52 K
A 1+ 52 P Bifz15 F
R 46 T11
e S 132 . ==RGiECY 0.65 ha — 0.01 ha = 0.64 ha
EEXEDHZE 2. 10cmLl E16cmEK i 1,144 &/ha X 0.64 ha = 132 K
% 12 744 V. Hifz4 1144 K/ha x 0.65 ha = 744 K
£ 1] 149 . EXGE 744 K x 0.2 = 149 K
A 1t 149 PN BiffiF14 "
1,954 K
INET 3.49 ha 3.49 ha 2,061 &
412 &
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No. 1-3 i« YE R ET BA #H =
B & RIEMEE
# Al #q = B B O B |BERES fi =
M
oS 46112
2= VN 635 V. =Rl E 0.86 ha — 0.02 ha = 0.84 ha
EEDOHSZE . 16cmLl L22cmk & 756 */ha X 0.84 ha = 635 A
% 1 650 V. B RS 756 #/ha X 0.86 ha = 650 K&
x 1] 130 V. Bifz10 650 & x 0.2 = 130 &
A 1+ 130 V. Bifz15 F
R 3076B 4t
e /S 389 . ==RGECY 0.71 ha — 0.03 ha = 0.68 ha
EEXEDHZE 8. 16cmLl E22cmEK i 572 *K/ha X 0.68 ha = 389 K
% 12 406 V. E-ThECT 572 K/ha X 0.71 ha = 406 A
£ 1] 81 V. BHf%z10 406 KX x 0.2 = 81 K
A it 81 V. Hffx15 5
MI 3075A
bt VN 2,041 V. =R E 3.68 ha — 0.24 ha = 3.44 ha
EDHSE #. 16cmilE22cmEK i 593 &/ha X 3.44 ha = 2041 K
% L] 2,184 V. B RS 593 #/ha x 3.68 ha = 2,184 K
x 1] 437 V. Bi{lE&RI0 | 2184 K x 0.2 = 437 K
A 1+ 437 V. Bifz15 F
UL
& S N ha — ha = ha
K/ha X ha = VN
% & x #/ha X ha = P
Ed 17 X X x = .
3,066 &
INET 5.25 ha 5.25 ha 3,240 K
648 K
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